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Q1 (a)

Section A : Electrical Machines

A 10 kVA single-phase transformer, rated for 2000/400 V has resistances and leakage
reactance as follows.

Primary winding: R,=55Q,X,=120Q

Secondary winding:  K,=02£, X, =045

Determine the approximate value of the secondary voltage at full-load 0.8 power-factor

lagging when the primary vollage is 2000 V and also calculate the voltage regulation at

this load.
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Q.1(b)

For electromechanical system shown in figure, the air-gap flux density under steady
operating condition is B(t) = B sin @t
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Find :
(i) coil voltage.
(ii) the force of field origin as a function of time.

(iii) the motion of armature as a function of time.
[12 marks]
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Q1 (o)

The power input to a 500 V, 50 Hz, 6-pole, 3-phase induction motor running at 975 rpm
is 40 kW. The stator losses are 1 kW and friction and windage losses total 2 kW.
Calculate: '

(i) theslip,

(ii) the rotor copper loss,

(iii) the output horsepower and
(iv) the efficiency.

[12 marks]
Sok

L 'ﬁm"rf:v SFEEA = . BAHS R

Syrcmorous Speed  ng= 10X SO

Nows S\ip 8=

16006 — 9FF

Jsen

e - 0~N5"_J
! Dou &y ";‘!S“"PL."% Pis = Aok
Shator Loty = 1 kw

\ , | A
Hew Oy gop  Powo & e
) - 20 KFw
votor Coppor hoyf Peu = S Py
- 008ty X239
- 0-9F§ KW

Pfq s g?f UJQH-E




MRDE ERSY Question Cum Answer Booklet |

Page 6 of 83

Do not
wirite in
thig rrangin

iy DO e develn P{A

te k"ﬂﬁtﬂ) +hﬁ_} j hP = e 4 £ EQ
& S, ch’rPU’f hors Pouser

Pa Lt =

Good Approach

= F ks O i Zp_g.w



Good Approach 


MBOE EBRSY Question Cum Answer Booklet | Page 7 of 83

Do niovt
wiite In
this margin

Q.1(d)

A 240V dc shunt motor runs on no-load at 800 rpm with no extra resistance in the field
or armature circuit, the armature current be&@ Calculate the resistance required in
series with the shunt winding so that the motor may run at 950 rpm when taking a line
current of 30 A. Shunt windin g resistance is lﬁ_ﬁ_ﬂ, armature resistance is 0.4 L2, Assume
that flux is proportional to field current.

[12 marks]
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Q1)

Two transformers A and B each rated for 40 kVA have core-losses of 500 and 250 W
respectively and full-load copper-losses of 500 and 750 W respectively. Compare the
all-day efficiencies of the two transformers if they are to be used to supply a lighting
load 'with outputs varying as follows:

Output-four hours at full-load, eight hours at hali-load and the remaining 12 hours at
no-load.
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Q.2 (a)

A B0 kVA 13800/ 208 V, A-Y distribution transformers has a resistance of 1 percent and
a reactance of 7 percent per unit.
(i) What is the transformer’s phase impedance referred to high voltage side?
(ii) Calculate this transformer’s voltage regulation at full load and 0.8 p.f. lagging using
the calculated high voltage side impedance.
(iti) Calculate this transformer’s voltage regulation under the same condition, using the
per unit system.

[20 marks]
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Q.2(b)| (i) A 70 MVA, 13.8 kV, 60 Hz, Y-connected, three-phase, salient-pole, synchronous
generatorhas X, =183 O and X, =121 Q. It delivers the rated load at 0.8 pf lagging,.
The armature resistance is negligible. Determine :

1. the voltage regulation and

2. the power developed by the generator.

[10 marks]
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Q.2 (b)

(ii) A dc series motor runs at 1000 rpm when taking 20 A at 200 V., The resistance of the
armature circuit is 0.5 {2 and that of the field winding is 0.2 Q. Find the speed for a
total current of 20 A, 200 V, when a (1.2 Q resistor is joined in parallel with the field
winding. The flux for a field current of 10 A is 70% of that for 20 A.

K,=02Q"

i

| 1 =20A
V=200 A - R,=05Q

:

[10 marks]
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Q2 (g

(i) Figureshows a Scott-connected transformer, supplied from 11 kV, 3-6, 50 Hz mains.
Secondaries are series-connected as shown, supply 1000 A ata voltage of 1002 V
to a resistive load. The phase sequence of the 3-¢ is ABC.

1. Calculate the turns ratio of the teaser transformer. _
2. Calculate the line current [ and its phase angle with respect to the voltage of
phase A to neutral on the 3-¢ side.

_— Teaser .
a3l 0 et Ve 1000 A
kit 11
11 kV,
3-phase supply Ly | N
B '—"Eﬁ'ﬁ"—ﬂ:d—’ﬁﬁﬁ‘“— n
Ny - Nz 102 Y Resistive
( Load
St Main '
o D000 —
— N,
v, °

L]

(if) A 50 Hz, single-phase transformer draws a short circuit current of 30 A at 0.2 pf lag
when connected to 16 V, 50 Hz source. What will be the short circuit current and its

p.f. when the same transformer is energized from 16 V, 25 Hz source?
[12 + 8 marks]
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Q3 1(a)

A 1200 KV A, 3300 V, 50 Hz, three-phase, star-connected alternator has armature
resistance of 0.25 Q per phase. A field current of 40 A praduces a short circuit current of
200 A and an open-circuit emf of 1100 V line-to-line. Calculate the regulation on
(i) full-load 0.8 power factor lagging; (ii} full-load 0.8 leading power-factor

[20 marks]
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Q.3 (b)

A11/04KkV,Y-A transformer is connected to 3-phase balanced load of 300 kV A at unity
p.f. and also to a single phase load of 60 kVA at unity p.f. Determine the values of the
current in each phase on the primary side. Neglecl the no load current and the internal
leakage impedance drop.

[20 marks]
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Q-3 (o)

A 600 V, b-pole, 3-phase, 50 Hz, star-connected synchronous motor has a resistance and
synchronous reactance of 0.4 {1 and 7 () respectively. It takes a current of 15 A at UFF
when operating with a certain field current. With the field current remaining constant,
the load torque is increased until the motor draws a cugrent of 50 A. Find the torque
(gross) developed and the new power factor.

[20 marks]
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Q.4 (a)| (i) Themaximum efficiency of a 500 kV A, 3300/500 V, 50 Hz, single phase transformer
is 97% and occurs at 75% of full-load, unity power factor, If the impedance is 10%,
calculate the regulation at full-load power factor 0.8 lagging.

[10 marks]
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Q4 (a)

(ii) The resistance of the armature circuit of a 250 V dc shunt motor is 0.3 Q and its full-
load speed is 1000 rpm. Calculate the resistance required in series with the armature
to reduce the speed with the full-load torque to 800 rpm, the full-load armature
current being 50 A. If the load torque is then halved, at what speed will the motor
run? The armature reaction effect is to be neglected.

[10 marks]
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Q.4(b)

A 6 pole, 3 phase, 50 Hz alternator has 12 slots per pole and 4 conductors per slot. The
winding is five-sixth pitch and the flux per pole is 1.5 wb. The armature coils are all
connected in series with star connection. Calculate the induced emf per phase.

[20 marks]
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Q.4 ()| A7.5hp,lourpole, 208V, 60 Hz, Y connected induction motor has rated current of 28 A,
The following test data was recorded :
DCTest: Vp. =136V, I, =28A

Mo Load Test : V‘." = 208V, f = 60 Hz, P.m = 420W
I, = 812A, I, = 820 A, [.=818 A
Blocked rotor test :
Vi =20V, f=15Hz, P, =320W
I, = 281V, I, =28 A, [ =276 A

Assume reactance value obtained by blocked rotor is equally divided between rotor
and stator and neglect skin effect.

(i) Obtaininduction motar per phase parameters and neatly draw per phase equivalent
circuit of motor.
(ii) Calculate the slip at pull vut torque and value of pull out torque alco.
[20 marks]
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Q5 (a)

Section B : Power Systems-1 +5Systems and Signal Processing-2 + Microprocessor-2

A 60 kV (rms) single-core metal sheathed cable is to be graded by means of a metallic
intersheath. The safe electric stress of the Lnsulatmg material is 4 KV /mm (rms).

(i) Calculate the cil'ameter of the intersheath and the vnitage at which it must ba
maintained in {:rdur to obtain minimum overall dmmeter Caiculate also the
corresponding conductor diameter.

(ii) Compare the conductor diameter obtained in (i) with that of an ungraded cable
working under the same conditions.

[12 marks]
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Q5 (b)

A three-p'hase transmission line has a resistance 10 Q per phase and a reactance of 30 02

per phase.

(i) Determine the maximum power which may be transmitted if 132 kV were
maintained at each end.

(ii) What is the phase difference between the receiving-end and sending-end voltages
for maximum power transmitted?

(iii) Also, determine the rating of a synchronous phase modifier required to supply
100 MW at 0.9 power factor lagging at the receiving end.

[12 marks]
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Q.5 ()| Determine the system function and the impulse response of the system shown i the
ﬁgure below.
3
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Q.5(d)| Find y(n), n = 0 for the following difference equation :

0 | vy = Fyln=1)+x(n)

where xn) = (%]“ u(n), y(-1)=1

() )+ Sv(n-1+un-2) =0

where, y-h= W) =1
‘ [6 + 6 marks]
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Q.5 (e)

based system?
M evno Y
Pﬂqpptﬁg
:1 - bt Pddarsc

“1‘1? CULQ h’i&%wucjl'imn
 aelated Yo YooYy

€M {}JE U.J}Q&
rx. WYov AT

I | Nata Fyomrsd ey
heuvleen Wc"ﬁ“ﬂ@f}j
and any v egiten
Guw Mere hoad waxe

3 wequred TO

Ade code \6- by
ad dsess.

) Cortrol Si'g'mﬂJ
MEMwW ME MR

aye Uled

Q
b

Compare memory mapping and input-output mapping of input output devices in 8085
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Q6 (a)

(i) A 20 MVA transformer which is used to operate at 30% overload feeding an 11 kV

bus bar through a circuit breaker. The transformer circuit breaker is equipped witlh#a
1000/5 current transformer and the feeder circuit breaker with 400/5 current
transformer and both the current transformers feed IDMT relays having the following
characteristics
Plug setting multiplier 2 3 5 10 15 20
Time (seconds) 10 6 4.1 3 252
The relay on the feeder circuit breaker has 125% plug setting and a 0.3 time multiplier
setting, If a fault current of 5000 A flows from the transformer to the feeder, determine:
1. operating time of feeder relay.
2. euggestsuoitable plug setting and TMS of the transtormer relay to ensure adequate
discrimination of 0.5¢ between the transformer relay and feeder relay.
[Given time for PSM of 3.33 = 5.6 5]
[10 marks]
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Q.6 (a)| (ii) An industrial load of 4000 kW is supplied at 11 kV, the p.f. being 0.8 lagging. A
synchronous motor is required to meet an additional load of 1103.25 kW and at the
same time to raise the resultant power factor to 0.95 lagging. Determine the kVA
capacity of the synchronous motor and the power factor at which it must operate.

Take the efficiency of the synchrenous motor as 80%.
[10 marks]
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Q6 (b)

Consider a discrete time system with the input-output relationship,
x(n); n=l
yn)=4 0; n=10
an+1); n<-1
where x{n) is the input and y(n) i3 the output of the given system. Check whether the
system is (i) linear (ii) causal (iii} time-invariant (iv) stable.
[20 marks]
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Q.6 ()| Determince the inverse z-transform of the following signals:
(i) X(2)=log(l +az", |z|>lal.

22102 —4z+4
272 274

(i) X(z) = with ROC |z]>2,

[20 marks]
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Q.7 (a)| A three-phase, 50 Hz, transmission line, 40 km long delivers 36 MW at 0.8 power factor
lagzing at 60 kV (phase). The line constants per conductor are, R=25Q,L=01H,
C = (.25 pF. Shunt leakage may be neglected. Determine the voltage, current, power
factor, active power and reactive volt-amperes at the sending end. Also, determine the

efficiency and regulation of the line. Use (a) nominal T method, (b) nominal I method.
[20 marks]
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Q.7 (b)

Using a rectangular window,design a low-pass filter with passband gain of unity, cut-
off frequency of 1 kHz and working at a sampling frequency of 5 kHz. The length of the
impulse response should be 7.

[20 marks]
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Q.7 ()| (i) Inprogramming of 8085, whatarc main logic instructions related to command group
‘ROTATE"? Describe briefly each instruction and their significance on register values
with example, assuming accumulator content AAH and carry flag, CY = 0, before

execution of instruction,
[10 marks]
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Q.7 ()| (ii) Write a program for transferring sixteen bytes of data stored in memory location at
XX50H to XX5FH. Transfer the entire data set to new memory location starting at
XX70H.

[10 marks]
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Q8 (a)

Draw the sequence networks for the system shown in figure. Determine the fault current
when (i) LLG and (ii) LL fault occurs at point F. The per unit reactances all referred to
the same base are as follows:

Xo X1 X
Generator G, 005 03 02
Generator G, 003 025 015
Line 1 070 03 03
Line 2 070 03 03
Transformer T; 012 012 0.12
Transformer T, 0.10 01 0.1

Both the generators are generating ’Lp.u. voltage.

5 T, ﬂL]':m:-I T, G,
(O |l —880
_ﬁ" E Pf Line-2 ﬁ \r/T_I:_
[20 marks]
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Q8 (b)

Find the voltage distribution and string efficiency of a three unit suspension insulator
string if the capacitances of the link pins to earth and to the line are respectively 20 per per cent
and 10 per cent of the self capacitance of each unit. [fa guard ring increases the capacitance
to the line of lower link pin to 35 per cent of the self capacitance of each unil, find the
redistribution of voltage and string efficiency.

SV

[20 marks]
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Q8 (9

(i) Write short notes on the following:

1. PROM 2. EPROM 3. EE-PROM

4, MASKED ROM 5. CONTROL BUS

[10 marks]
Sl y
, A ]
[\[j PROM & Pﬁﬁoﬂygwwﬁﬁbré F?E.:l an'y
2B, Fand
Memory)

By v the Programme
\Jr P“.Elp +o Yremnd Hy
1A beH{%‘ e ‘Sz’g e Qy’}“ﬁ
way -
. pprom: [ Elechically 1729 P
. T Read c‘ml_y T enN\ens
Ty AEIEA e iﬂ&oﬁ"aﬁ’?djﬁ[mﬂ
Fsomaber 18 Oy £lecho cally
programined  Code Mna

cad
Falsey  Eadt,  wnameTy v

CI a;’f‘ "E-C‘lj‘_\‘ oY,




MRADE ERSY Question Cum Answer Booklet | Page 81 of 83

Do nat
write in
this MATGEN

U’-‘@ M MIALK ROM T Sl',ﬁj'ﬂfé el

g) CoNTRoL
g bit |, bus

ONCY dq}a oo Cyrennary

}Wﬂuhwﬂ' divect corbd

gddsess Uied by hey cla&fza
buy .o O dd yeufr bUJS dur»
EXE(-UHW od fanmn  PTeIT .

Ly i"ﬂ_] ‘}“J’U\‘C"hom

L pevidey, foosteol
. a3 1o be

Seav addy 33

Elaborate._ It more



Elaborate it more 


MRCE ERS%Y Question Cum Answer Booklet 1 Page B2 of 83

Do nat
write in
this margin

Q3 (0

(ii) What are the steps needed for data flow from memory to the MPU in 8085
microprocessor? Draw clear schematic timing diagram representing transfer of byte

from memory to MPU.
[10 marks]
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